- Chemistry of atoms is caused hy
their outer (valence) electrons.

- We want to identify outer (valence)
electrons.
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Nitrogen =1s°2s°2p’

2. Select only electrons with the highest principle
guantum number.

Nitrogen = zs 2 z p3



- The cnemlstrv of Nitrogen is determined hy
the 25”2 p’ electrons

- Chemists represent active (valence) electrons
In two ways.

1 Orbital filling diagrams
2 Electron (Lewis) dot diagrams
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Try Fluorine (Z=9]
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' = Now Germanium (1 = 32)
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Now Phosphorus (Z = 19)
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- Underline electrons with the highest
principle quantum #.

- Write the symhol for the element
[example: Nitrogen = N}

- Gount up the # of electrons with the
highest quantum # (for N3itl'090ll, that's

five. 25°2p



- Use dots for electrons.
- Pairup the’s” electrons.
- Dom’t pair others unless you have to.
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- Use dots for electrons.
- Pairup the’s” electrons.
- Dom’t pair others unless you have to.

2s2p" (DO OO @N@

electrons



- Use dots for electrons.
- Pairup the’s” electrons.
- Dom’t pair others unless you have to.
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To a maximum of eight
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